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Exam Exam

: AADHI 29 : 29-05-2019
Code Date
Exam
Version :27 :12:30 - 14:00
Time

Question No. 1

A FYT FT Yol |

1) U T SgIfer A Tl $[oNT WA el B

2) 8% T 3ARF T TR A &

3) 3% SfgshIvit FT AT 360° AT Bl

4) 8% HidRS 0l T AT (n-2) x 360° Fer &l
A) FUF 4 B) & 1

C) & 3 D) el 2

Identify the WRONG statement.

1) In a regular polygon all side are equal.
2) All its interior angles are equal.

3) Sum of its exterior angles is 360°.

4) Sum of its interior angles is (n-2) x 360°.

A) Statement 4 B) Statement 1
C) Statement 3 D) Statement 2
Answer Key : A Your Response : B (Wrong)

Question No. 2

CH3COCH3 &T IUPAC & &iT 87



A) WSTT B) wdrc
C) 9 D) sEafded fea

The IUPAC name for CH3COCHj3 is-

A) Propanone B) Acetone
C) Propane D) Dimethyl ketone
Answer Key : A Your Response : C (

Question No. 3

& & gt & e Fage 32

A R 18
27

0) 20 D)



How many triangles are there in the given figure?

A)

L2
=1

o)

Answer Key : A

3

T T 6§><9:><L+2—

S8l 2

A)

64

o)

B)

D)

18

Your Response : B (Wrong)

Question No. 4

1
3

B)

D)

48

16



: : 2 37 1
Simplify: 6= x 9= x — + 2=
3 5 12
A) B)
64 48
0) D)
8 16
Answer Key : D Your Response : D (Correct)

Question No. 5

ffaf@a F & fFl 2019 3 wr Wor | wFAIfea fohar I ar?

A) 93 &ar B) $¥ASA 3 Vel

C) Gl offel SieT D) =TSl S ed

Who among the following was awarded with the Padma Bhushan in 20197

A) Prabhu Deva B) Ismail Omar Guelleh
C) Darshan Lal Jain D) Nanaji Deshmukh
Answer Key : C Your Response : Not Answered

Question No. 6

e ARS8 2017 H IRT & ¥ = A2

A) 135 B) 167

C) 100 D) 149

What is India’s rank in the Legatum Prosperity Index 2017?



A) 135
C) 100

Answer Key : C

Soft i QT FXI

8, 20, 36, 56, (..)
A) 72

C) 92

Complete the series.

8, 20, 36, 56, (...)

Answer Key : D

B) 167
D) 149

Your Response : Not Answered

Question No. 7

B) 64
D) ‘80

Your Response : D (Correct)

Question No. 8

it W &I 4T AFR 7 Faq SIS Bl 87

A) G
C) olifdas

B) Aifsa#
D) wifsgs

Which of the alkali metals is the smallest in size?

A) Potassium
C) Lithium

Answer Key : C

B) Sodium
D) Rubidium

Your Response : C (Correct)

Question No. 9




fArfaf@a # ¥ fFa defaet G@RT gfaar & wed 9do gerdt & §9 # A1fART R = g7
A) Porie B) Tafernist
C) Ihr D) FarcS

Which of the following has been designated by scientists as the thinnest substances in the
world?

A) Fullerene B) Silicon
C) Graphene D) Quartz
Answer Key : C Your Response: Not Answered

Question No. 10

T a1 fedt & & a7 sl g, St J= Rw v Ye= @ @ FH
&l

A) B)

0 D)



Choose from the alternatives the figure that best completes the

pattern given below.

?
A) B)
0) D)
Answer Key : B Your Response : B (Correct)

Question No. 11

9 YT FT Tk ST Shepl AT &, dl TEIA3HT Al AT A gy A wiiderar = 82

A) 1 B) 0.5

C) 0.4 D) 0.25

When a pair of dice is thrown, find the probability that the sum of numbers appearing odd.

A) 1 B) 0.5
C) 04 D) 0.25
Answer Key : B Your Response : C (Wrong)

Question No. 12

IeRed T § Rl WEar F1 g S 9 SX-3eT arell HEAT & IIST AT F g hr wifdewar
T §?

A) 21/90 B) 7/30




C) 67/90 D) 23/30

What is the probability that a two-digit number chosen at random number is not a prime

number?
A) 21/90 B) 7/30
C) 67/90 D) 23/30
Answer Key : D Your Response : A (1

Question No. 13

I Th IRAAFR Tale H &T%e 30% 01T Iar § 3 =g § e W S & dr a9 3R
T it & e F AT T FEI?

A) 31 B) 13 : 10

C)1:3 D) 4:7

If the area of a rectangular plot increases by 30%, and its breadth remains the same, what will
be the ratio of the areas of new and old figures?

A) 3:1 B) 13:10
C) 1:3 D) 4:7
Answer Key : B Your Response : B (Correct)

Question No. 14

AT FYA (i) T fRIeT 9|

(i) T quiter e~ §1

(i) o=t @ 2ver WiRAT GERT Hge T ST W B

(iii) g3 Bre=t qoiier ofr &I



(iv) =it S T&ar @1 W 9GRia &1 BFar ST aharl
A) FHad FUA (iv) B) Fad U (ii)
C) Hhad S (iii) D) shae &Y (jii) 3R (iv)

Mark the INCORRECT statement(s).

(i) All integers are fractions.

(i) Fractions are closed under the operation of addition.
(iii) All fractions are also integers.

(iv) Fractions cannot be represented on the number line.

A) Statement (iv) only B) Statement (ii) only
C) Statement (iii) only D) Statements (iii) and (iv) only
Answer Key : D Your Response : C "0l

Question No. 15
Ifg 5x/(1 + 1/(1 + x/(1 - X)) = 1, a@ X' FT AT AT FL
A) 1/3 B) 2/3

C) 1 D). 5/3

If 5x/(1 + 1/(1 + x/(1 — x))) = 1, then find the value of 'X'.

A) 1/3 B) 2/3
C) 1 D) 5/3
Answer Key : A Your Response : Not Answered

Question No. 16

e @ FEw A R I A A a@ aE §  we

81:16 :: ?: 25

A) 26 B) 27



C) 100 D) 98

Which number will best complete the relationship given below?

81:16::7:25
A) 26 B) 27
C) 100 D) 98
Answer Key : C Your Response : C (Correct)

Question No. 17

FHIFOT Na,CO3 + 2HCI— F 3c9mel it ggare hifse]

A) COy + HyO B) Na,CO3; +COy + HpO

C) NaCl + H,0 D) 2NaCl +CO, € Hy0

Identify the products in the equation Na;CO3 + 2HCl—

A) COy + HyO B) (NapCO3 +CO5 + Ho0O
C) NaCl + Hy,O D) 2NaCl +CO;y + Hy,O
Answer Key : D Your Response : D (Correct)

Question No. 18

fefaf@a & & Sl ar ael #F Rar g2
A) T B) @i
C) g & el D) 9

Which of the following floats in water?
A) Coin B) Cork
C) Iron nail D) Stone

Answer Key : B Your Response : B (Correct)



Question No. 19
ffaf@a & @ #la 3fPusyr (Remie) @Err 53 @ 872
A) af¥er, ArFal @ B) cadr, Ataael &
C) #ArEYel, g ¥ D) &s<l, g3 &

Which of the following are connected by Ligament?

A) Nerve to muscle B) Skin to muscle
C) Muscle to bone D) Bone to bone
Answer Key : D Your Response : D (Correct)

Question No. 20

P, Q 3t R R SR T Har: 37T 3o 10, 12 3K 15 REt & 7 god &1 9 & a7 =5
A YE A § AR 2 R & a1g P 07 Fawr 85 & §1 FE WP ¥ 3 oI wgd Q 7
HH FT o5 an w1 fFaar Rat & @ gem?

A) 6 B) 5

C) 7 D) 8

P, Q and R can individually do a work in 10, 12 and 15 days respectively. They start working
together and P leaves after 2 days. Q left 3 days before completion of work. In how many days
was the work completed?

A) 6 B) 5
C) 7 D) 8
Answer Key : C Your Response : C (Correct)

Question No. 21

qerd fr g5 A, SEH 3aa @ RAfdse 7o For wfAe g § Faa Fee -12 gEenfas & 12

T F RAORT $r g7 gk g, Fgerd ¢l
A) 370 HEIT B) #el
C) 3=t D) gaEurfas(Isotope)

The amount of substance that contains as many specified elementary particles as the number



of atoms in 12 g of carbon-12 isotope is known as-

A) Molecule number B) Mole
C) lon D) Isotope
Answer Key : B Your Response : B (Correct)

Question No. 22

Y 9faReT vomel & v Fia a1 Raf@a aeq 3naeays 22
A) ®iferd 3Far B) A

C) K D) C

Which vitamin is the most essential for a healthy immune system?

A) Folic acid B) A
C) K D) C
Answer Key : D Your Response : Not Answered

Question No. 23

FleT A e A /U 70 Faer i Fafeadd dor § qof e

g1 : aR&AT g - ?
A) g8 & Iho B) =a1®

C) 3IdsT D) uRkfer

Which word will best complete the relationship given below?

Square : Perimeter :: Circle : ?

A) Surface area B) Diameter
C) Volume D) Circumference
Answer Key : D Your Response : D (Correct)

Question No. 24

T IRIY & IRT 3 5 TERR $r v 9RT 10 s & AT yargd adr g1 a0 T97 7 gl




# o g & fraer 3maer yarfa gem?
A) 0.5 FHorwd B) 50 FHewa
C) 2 Fara D) 25 FHawa

A current of 5 Amperes flows around a circuit for 10 seconds. How much charge flows past a
point in the circuit in this time?

A) 0.5 Columbs B) 50 Columbs
C) 2 Columbs D) 25 Columbs
Answer Key : B Your Response: B (Correct)

Question No. 25

gihr Rg 9 gaw 310+ IR Faer shar?
A) STHT B) #Rd
C) 3iregferar D) uiferearr

Who has won the Hockey World Cup the maximum number of times?

A) Germany B) <India
C) Australia D) Pakistan
Answer Key : D Your Response : Not Answered

Question No. 26

fFg 3T & T o "Ner-aier 3 gr Jar &2

A) o efag B) dfelldic
C) Shesldl D) T&arr

Which ball game is also called 'ping-pong"?
A) Table tennis B) Volleyball

C) Basketball D) Squash

Answer Key : A Your Response : D (Wrong)



Question No. 27

Afeaf@a & § g Aaregs & «F Fdr RYAY a9dHe | @99 a9 IEr & g2
A) i B) GreiY

C) doligr D) ay

S

In which of the following media does sound travel the fastest at a particular temperature?

A) Glass B) Water
C) Iron D) Air
Answer Key : C Your Response : C (Correct)

Question No. 28

frfaf@d Joft 7 equitad dear a9 s

3, 10, 24, (..), 108
A) 63 B) 54

C) 48 D) 52

Find the missing number in the following series.

3, 10, 24, (...), 108

A) 63 B) 54
C) 48 D) 52
Answer Key : D Your Response : D (Correct)

Question No. 29

R, AR THR & Yol HAd gamT 1961 & T fohar amr a

A) deTdeT B) <arH dFATA

C) #Hfciedr D) 3TelsT

S



Award was instituted in 1961 by Sports Ministry of Government of India.

A) Tansen B) Vyas Samman
C) Moortidevi D) Arjuna
Answer Key : D Your Response : D (Correct)

Question No. 30

SEICCICC) H 9rr ST
A) T&d B) gs3r
C) Mea ga D) gdi=r

Haemoglobin is found in-

A) Blood B) Bones
C) Bile fluid D) Sweat
Answer Key : A Your Response : A (Correct)

Question No. 31

g SRt 7 ¥ Fas 9r o I S99 & fAC g &7 v HEROT (coat of spines) BT §7

A) faermrereT st B) #3T(Antelope)

C) sRgfaar D) drel(Hedgehog)

Which of these animals has a coat of spines to protect itself?

A) Giant Panda B) Antelope
C) Reindeer D) Hedgehog
Answer Key : D Your Response : Not Answered

Question No. 32
AR FT FY T37 HE FFA AeT & oud &2

A) EedETE B) de=ig
C) HsS D) s3Te®

9




In which Indian city is the largest post office located?

A) Hyderabad B) Chennai
C) Mumbai D) Bengaluru
Answer Key : C Your Response : Not Answered

Question No. 33

g ve fARad Fewmr F 'PENSION' @I 'NEISNOP' fo@r smar &, o 3& sHesmor #
'FOLIAGE' & 9 for@r Siem?

A) EOIALGF B) EOAILGF

C) EOAIGLF D) EOALIGF

If in a certain language 'PENSION' is coded as 'NEISNOP', how is 'FOLIAGE' coded in that
code?

A) EOIALGF B) EOAILGF
C) EOAIGLF D) EOALIGF
Answer Key : B Your Response : B (Correct)

Question No. 34

Ao aREse # fhde H&g aN §, S anpfa a3 Bav sl 2
A) 9/ dr B) dArd dr

C) IR ar D) &8 dR

How many prominent stars are present in the Ursa Major constellation, which has the shape of

a big dipper?
A) Five stars B) Seven stars
C) Four stars D) Six stars
Answer Key : B Your Response : B (Correct)

Question No. 35

9ery & Foit & 99 fr gl AT gl AT gl




A) fara B) 31d:-30]h

C) HRTRAH D) 3TcRI-310Th
The distance between the particles of matter is called the space.
A) Vacuum B) Intramolecular
C) Interatomic D) Intermolecular
Answer Key : D Your Response : D (Correct)

Question No. 36

e W T A R O dE B a4 g wn

2:12 ::3:7?
A) 40 B) 38
C) 36 D) ¢32

Which number will best complete the relationship given below?

2:12::3:7
A) 40 B) 38
C) 36 D) 32
Answer Key : C Your Response : Not Answered

Question No. 37

It fFdr IR W 7.5% 9fd e T W 15 AN T WUROT IS, 3de & AR W 12.5%
¥ & I 8 ALY & HIYURYT =1 ¥ ¥.32.50 30+ &, ag U a1 a HifSw)

A) .3120 B) %.3000




C) %.2900 D) %.3060

If the Simple Interest on a certain sum for 15 months at 7.5% per annum exceeds the Simple
Interest on the same sum for 8 months at 12.5% per annum by Rs.32.50, then find the sum.

A) Rs.3120 B) Rs.3000
C) Rs.2900 D) Rs.3060
Answer Key : A Your Response : A (Correct)

Question No. 38

Ifg 'ish Ito inm' & 3IfAYRT 'neat and tidy' &; 'qpr inm sen' &T AW 'small but neat' ¥;
'hsm sen rso' & AU 'good but erratic' &, a 'but’ Hr AFfATT FFaw &7

A) inm B) hsn

C) qpr D) sen

If 'ish Ito inm' stands for 'neat and tidy'; 'qpr inm sen' stands for 'small but neat'; 'hsm sen rso'
stands for 'good but erratic', what would 'but' stand for?

A) inm B) hsn
C) qpr D) sen
Answer Key : D Your Response : D (Correct)

Question No. 39

7 J0.0169%xx =1.3 T, T ‘X' FT AT AT HITorT

A) B)

50 1000

0) D)



10 100

If f0.0169%x =1.3, then find the value of 'x'.

A) B)
50 1000
C) D)
10 100
Answer Key : D Your Response : C (Wrong)

Question No. 40

S F UH WHg O 1 & 50 aF 3w e aw § Iy o #18 aefRes & § g aw §, Qe
FIsf &1 3 AuH g fr MRSRAT = §?

A) 12/49 B) 12/25

C) 23/50 D) 24/49

A set of cards are numbered from 1 to 50. If two cards are selected at random, what is the
probability that the numbers in the two cards are odd?

A) 12/49 B) 12/25

C) 23/50 D) 24/49

Answer Key : A Your Response : Not Answered



Question No. 41

I T FHOT WURYT 41T W 6 auf F gt 3 I ghar g, aF 8 I B # ¥ frdemr wHY
em?

A) 15 a¥ B) 22 ay
C) 20 ay¥ D) 21 a¥

If a loan grew 3 times in 6 years at Simple Interest, then how much time will it take to grow 8

times?
A) 15 years B) 22 years
C) 20 years D) 21 years
Answer Key : D Your Response : D (Correct)

Question No. 42
frfaf@a 7 & fFae SR & SuaASr & & A §9@ &6 39 JF Aar ve=T H?
A) STETEIATS AgE B) sfcr amer
C) ARG &ars D) =l AadeT Re

Who among the following is the longest serving Prime Minister of India?

A) Jawaharlal Nehru B) Indira Gandhi
C) Morarji Desai D) Dr. Manmohan Singh
Answer Key : A Your Response : A (Correct)

Question No. 43

5H G TS W, A FEAE A & e F ey w@
Tafcad o1 ¥ Fwig #dr &l
RAS, Ao, HPIAT, TG

A) B)



O] D)

Choose the figure that best represents the rels
classes given below.

Crocodile, Fish, Turtle. Reptile

A)

0

Answer Key : C Your Response : C (Correct)

Question No. 44

30 WA H, T FYeT AR 38 A IR swd Ru v §| 37 st #r g, S arfed §9 &
HaiAF FoFT &



STeret Y STl el @ 30T 8, THIST &I T fFar e

sy

|. THIFAT FIESE HISIT Fellel W g ST HI 357HE FT Fhell ¢
Il. S 9T FAAT T F gledd I §, 3¢ SiFel & I Al HT G THdr &1 g
l1l. 36T QT W 3TST WYY W@T, 39 S J 3T 2

IV. Sterexl T JoaT F THST Y FH ST AT AT
A) Sael sy | 39T g B) &de fAshy IV 3uged Bl
C) hael shy || 3UFF g D) &dae fAshy |1l 39 g

In this question, a statement is given followed by four conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
Better pay the cook than the doctor.

Conclusions:

I. A cook can expect better payment for the delicious food he prepared.

Il. One who visits hotels regularly does not require to go the doctors.

lll. It is better to keep a good health by taking good food, than to visit a hospital.
IV. Cooks are poorly paid than the doctors.

A) Only conclusion | follows B) Only conclusion IV follows
C) Only conclusion Il follows D) Only conclusion Il follows
Answer Key : D Your Response : D (Correct)

Question No. 45




few v Redt & & 389 FF A

A) B)

X\ ()

o)

B

Find the ODD one out from the g1

A)
0 _ D)
Answer Key : D Your Response : D (Correct)
Question No. 46
fRw 1w fawedl F & rdera @ gl

A) Sa B) 3m%e



C) eirg D) &R

Find the ODD one out from the given options.

A) January B) April
C) July D) December
Answer Key : B Your Response : B (Correct)

Question No. 47

T a1 Fedt & & a7 sl g, St &= T aw Se & e
&l

A)

0) D)



Choose from the alternatives the figure that best completes the

pattern given below.

A) B)
& 4
\/
0 D)
Answer Key : A Your Response : A (Correct)
Question No. 48
AT WK F TN el §38r Fgl IS S §?
A) St & B) o & I BT A
C) W#H D) e &
Where is the longest bone in the human body?
A) The thigh B) The upper arm
C) Theleg D) The arm
Answer Key : A Your Response : A (Correct)

Question No. 49

A TH AS § S AT 3 q§ 37 ¥ S AW A YeT g3 A, A AV 75 oF ¥ H M| gAN
Y H AT 14 &1 39 AY qgT Hr Y Fhcelr &7

A) 19 a¥ B) 17 a¥




C) 18 a¥ D) 20 a¥

| have a brother 3 years elder to me. My sister was six years when my brother was born. The
average of our ages is 14. How old is my sister now?

A) 19 years B) 17 years
C) 18 years D) 20 years
Answer Key : A Your Response : A (Correct)

Question No. 50

few v Redt # &/ 3@ FF g

A) B)
. -

0) D)

\y —

Find the ODD one out from the given options.

A) B)

a .




\y —

Answer Key : D Your Response : D (Correct)

Question No. 51

frearfaf@a F & wa@ 93 e 9o o ¥er (101)° - 1 g @ & fnfoa & smeef
A) 10 B) 1000

C) 500 D) 100

Choose the largest number from the following that will perfectly divide (101)5 -1.

A) 10 B) 1000
C) 500 D) 100
Answer Key : C Your Response : D (Wrong)

Question No. 52

ST & fggd-3muce v & SR, I8 |

A) THAIS 9T AT & T & B) $UE & TAY-TY Tals W T FAT g 1l
e
C) HUE I AT & AT & D) faeae & 3§ ST &

During electrolytic refining of zinc, it-

A) Gets deposited on anode B) Gets deposited on cathode as well as
anode
C) Gets deposited on cathode D) Remains in the solution
Answer Key : C Your Response : C (Correct)

Question No. 53

ECG ¥ R & 5T 31 fr S fr I 82



A) ATETSH B) Jar

S

C) g D) ®IEr 31 d

Which part of the body will be under examination in an ECG?

A) Brain B) Kidney
C) Heart D) Small Intestine
Answer Key : C Your Response : C (Correct)

Question No. 54

39 WA H, YAl F 91 ARy Re v §1 37 Aswy @) F#; g S aifFw &7 & qE9Q@
39ged &l

hYod:
1) |3 i FreleT &l

2) PIS Flellel AC AT g
oSy
|. IS AC FleNeT el gl

Il. AS ATl 2AC AT B
A) et ey | 3R 1 3ugFd &l B) am ar fasehy | a1 o || 3uged g
C) #adl fasshy Il 39 & D) &de fashy | 3uged Bl

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All shawls are carpets.

2) No carpet is shirt.

Conclusions:



I. No shirt is carpet.
Il. No shawl is shirt.

A) Both conclusions | and Il follow B) Either conclusion | or Il follows
C) Only conclusion Il follows D) Only conclusion | follows
Answer Key : A Your Response : A (Correct)

Question No. 55

3 ¥ I g AT FH, UE WA gUUT A 4 HieT A qft W wWer 71 3WH GfAfT FEl aetar
¢ 3R 38% Fe & vlafda A Gleg Braeh 32

A) 388 8 #Hiex & gl W 3R Hg & vldidd B) cUor & I 6 #Hel H gl W IR g &

$r disig 3 A Bl fafss &r disrg 6 @+ &
C) 38H 4 MY & gt W AR Hg & widfda D) guor & IS 8 #Hicd & gl W iR #Hg &
$r <isis 3 A B gidfss A Flsis 6 JAT &

A boy with a mouth 3 cm wide stands 4 m away from a plane mirror. Where is his image and
how wide is the image of his mouth?

A) 8 m away from him and mouth image is'3 B) 6 m behind the mirror and mouth image is

cm wide. 6 cm wide

C) 4 m away from him and mouth image is 3 D) 8 m behind the mirror and mouth image is

cm wide. 6 cm wide

Answer Key : A Your Response : A (Correct)

Question No. 56

S0 WA #, & FYAl F «1g o ARy RU v §1 37 Aspy 3ih) F gt S aifer w7 & FE@
39ged &l

hYod:
1) qafr wsferar o5 ¢

2) welr 9% oV £



fosens:
| Tl wsfrar gov B

Il. & T asfrar &l
A) et fashy | 3R 1l 3ugeEd B) &de fsey | 3ugerd B
C) hael shY || 3UFF g D) & ar fashy | &1 & 1l 3uged g

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All girls are boys.
2) All boys are males.

Conclusions:
I. All girls are males.
Il. Some males are girls.

A) Both conclusions | and Il follow B) Only-conclusion | follows
C) Only conclusion Il follows D) -Neither conclusion | nor Il follows
Answer Key : A Your Response : A (Correct)

Question No. 57

afg 20 F 10% + 30 & 20% + 40 Fr 30% + 50 & 40% = 800 F x% g, X' H A A
ffaw|

A) 5 B) 8

C) 4 D) 6

If 10% of 20 + 20% of 30 + 30% of 40 + 40% of 50 = x% of 800, find the value of 'x'.

A) 5 B) 8
C) 4 D) 6
Answer Key : A Your Response : A (Correct)

Question No. 58




fa=gedr (stinging nettles) # fAFIfAf@T 7 ¥ FieT AT 3T HISE & 872
A) BifFE 3FT B) dofdes 3rear
C) TreR& 3+ D) @rsfeeh 3Fdl

Which of the following acids is present in the stinging nettles?

A) Formic acid B) Lactic acid
C) Tartaric acid D) Citric acid
Answer Key : A Your Response : Not Answered

Question No. 59

TS A ST G2 #ir R goIdr § IR 9% IR AT §1 Y 9§ WU a1 T 45° T3
e 7 B fewm #r 3R #F B ge B2

A) FeR g4 B) 3ceR ufRwH

C) T o D) afr TRRew

A person moves towards south direction and turns left. Again he turns 45° to his left side. In
which direction is he facing now?

A) North east B) North west
C) South east D) South west
Answer Key : A Your Response : A (Correct)

Question No. 60

gfg 2% = 64, ar (125)Y T A AT HLl
A) 1/25 B) 25

C) 1/5 D) 5

If 2%Y = 64, then find the value of (125)Y.

A) 1/25 B) 25



C) 1/5 D) 5

Answer Key : B Your Response : B (Correct)

Question No. 61

919 P 3K Q t&F &F #F FAM: 6 3R 4 9 7 9T THha &1 9S9 P Y 7 gor @ I g, 3R
P 3k Q = Iy aifY ¥ s ¢ F AT @ar Sar g1 & frde 987 7 s Seen?

A) 3 He B) 6 ¢
C) 5 ¢ D) 4 §¢ 30 e

Pipes P and Q can fill a tank in 6 and 4 hours respectively. Pipe P is opened at 7 PM, and P
and Q are opened on alternate hours. In what time was the tank filled?

A) 3 hours B) 6 hours
C) 5hours D) 4 hours 30 minutes
Answer Key : C Your Response :C (Correct)

Question No. 62

PleT WM SHARA 41, =, waor 3R A F Fo ¥ Joa F5 o/, a7 IR T ggime=t #v
T Sifed fAsor 872

A) SITel B) &l del dcifergd
C) LPG D) wrhfae g

Which fossil fuel is a complex mixture of several solid, liquid, and gaseous hydrocarbons mixed
with water, salt and earth particles?

A) Coal B) Crude oil petroleum
C) LPG D) Natural gas
Answer Key : B Your Response : B (Correct)

Question No. 63

Afaf@a F ¥ &9 IIT & 500 fram wfesrat 3R vl A $EROT &Aar arr T Qiéaer T-Far
AT Fies TR 3YRIOT FHI [ATOT fHar &2

A) T diea B) IIT &g



C) IIT sk D) T #FgE

Which of the following |ITs has developed a portable solar-powered cold storage device with
500 kg capacity for storing vegetables and fruits?

A) [IT Bombay B) IIT Kanpur
C) IIT Indore D) T Madras
Answer Key : D Your Response : Not Answered

Question No. 64
ST @ Pl A1 PR SifEAr AR IRET SR et F WY AAAT Sier §2
A) SaTEr B) sIadnia
C) fg D) SECNIES

Which of these festivals is celebrated with dances like Dandiya and Garba?

A) Baisakhi B) Navratri
C) Bihu D) Shivratri
Answer Key : B Your Response : B (Correct)

Question No. 65

T 19 T ORI A feRr 7 16 Rt i gy 7 et F 2 °9¢ e § AR uRr dr Rl fowr &
T QU T F H 4 €S P §1 GRT Fr Arer AT HY

A) 2 Rrseer B) 12 Rrefieer

C) 4 frslder D) 6 fe/ger

A boat takes 2 hours to go 16 km downstream; while covering the same distance upstream, it
takes 4 hours. What is the speed of the current?

A) 2 km/h B) 12 km/h
C) 4 km/h D) 6 km/h
Answer Key : A Your Response : D (Wrong)

Question No. 66




s &g &, T o qF fr IR e gE fFAr 3k 35 Hiew Tam 97 R g AN A3 3k 20
Hrex =er, IR 97 B & o5 3R 737 3R 35 Ay oMl I #, a§ T AR qer 3K 20 AR
aelm AR 39 AT T T TGN 39 g I IRIFeh fog & e gy &7

A) 50 #Hrex B) 40 #ex
C) 20 #Hex D) 55 #ex

From a point, Raju started walking towards east and walked 35 m. He then turned right and
walked 20 m, and he again turned right and walked 35 m. Finally, he turned left and walked 20
m and reached his destination. How far is he now from his starting point?

A) 50m B) 40 m
C) 20m D) 55 m
Answer Key : B Your Response : B (Correct)

Question No. 67

fRw 1w fRsredt & @ T Fr A
A) HifT B) &g
C) wfe D) 3meRE

Find the ODD one out from the given options.

A) Cornea B) Medulla
C) Pupil D) Iris
Answer Key : B Your Response : B (Correct)

Question No. 68

g ¥ Sl o TE, TR o dEr @Ay @ AFA(HCF) A€t @ Ted §72

A) 2 B) -1

C) 1 D) 0

Which of these numbers cannot be the HCF of any set of numbers?

A) 2 B) -1



C) 1 D) 0

Answer Key : D Your Response : D (Correct)

Question No. 69

Sq & derdl ¥ Wi =T AT ST §7?

A) S & f3Slsel &I el del & fou| B) Sd & B W IAE # Hde od
I & faw]

C) °YUT & &HH el & [T D) ©YUT &I §gled 3 dga U6hs el el &
for|

Why are the soles of the shoes provided with grooves?

A) To add beauty to the shoe design B) To make the shoe slide easily on the floor
C) To decrease friction D) To increase the friction and to provide
better grip.
Answer Key : D Your Response : D (Correct)

Question No. 70
g1 & FiT W A4r 3REe gdd Aoft F F@ Fperr §7
A) & B) @eAMN
C) #TEr D) &Y

Which of the following rivers does NOT originate from the Aravalli Range?

A) Luni B) Sabarmati
C) Manhi D) Sakhi
Answer Key : C Your Response : Not Answered

Question No. 71

U oIhsl & IR0 AT AT 20 J#AT x 12 A+ x 10 J+A §1 RSy Fir Aerg 1 Ao §1 9 T
& foIT 39T i S Grel dFS FT AT AT PAT|

A) 960 a3 B) 1120 @+



C) 519 a3 D) 2400 a3

A wooden box measures 20 cm x 12 cm x 10 cm. Thickness of wood is 1 cm. What is the
volume of wood used to make the box?

A) 960 cm?® B) 1120 cm?
C) 519 cm? D) 2400 cm?
Answer Key : A Your Response : B (W

Question No. 72

gfec 'ENGLAND' & 1234526 for@r airar § 31 'FRANCE' & 785291 fo@r siram &, ar
'GREECE' & &% for@r smdem?

A) 381171 B) 381191

C) 381691 D) 381791

If 'ENGLAND' is written as 1234526 and 'FRANCE' is written as 785291, how is 'GREECE'
written?

A) 381171 B) 381191
C) 381691 D) 381791
Answer Key : B Your Response : B (Correct)

Question No. 73

U A F FW T AT TH HEES FT Fel JSET &Abel A AT, Fafw Qe Hir fBsar
AT 8 3 SereT Hr F=ne swehr Bsar v Qe 8

A) 8mr B) 42

C) 7mr? D) (2mrh + 2mr?)

The total surface area of a solid in the shape of a hemisphere mounted on a cylinder both with
equal radius and height of cylinder being twice its radius is equal to:

A) 8trr? B) 4tr?
C) 7tir? D) (2mrh + 211r?)

Answer Key : C Your Response : B (Wrong)



Question No. 74

Ieie 39T W { IREH H IR 6 P gorar & 3R S@or Fr IR AR 4 AT =@ ) 3T
#, a5 9Raer A 3R 1.5 Bl Torar 81 3T 30F W @ 3WH gl R § 3R 3@ w1 fha foww
T AR &7

A) 5.5 e, afRas B) 5.5 fel, qd
C) 8.5 fhal, gfRae D) 7.5 fell, qa

Anand walked 6 km west from his home and turned south covering 4 km. Finally, he walked 1.5
km towards west. What is the distance from his home and which direction is his home facing?

A) 5.5 km, west B) 5.5 km, east
C) 8.5 km, west D) 7.5 km, east
Answer Key : C Your Response : D (\Wion;

Question No. 75

A=faf@ad e i S ¥ 3¢ 3R A ffr 31w 9= &t 37 <l

&8 T 9% o diet arelr & wAmice SiFadl F 9% 1 9w d9fFa & e e @ §) 9
AFV, W, X, Y 3R Z afEior i 3K g ST & §1 dfFa 2 7 H, |, J, K 3R L 3a/ f 3R
He Y 48 §1 TAF FT HE-3 FiE F d9ET SAQ-TAd, oela), S, HGH, W, 9T, T,
diSesHITe, ABHHF iR FRET T &

K, J & g% 3R ey $e o ST § 3R IRgW s q¥g Har 1 | 3R @relr de & @ daer
ar @eT 3 §1 | THT AT 3 i3 qWe AGf g1 Z, X F 8 T # G qor 1 W Ruew
s THe ¢l Sl 39 i THE §, 9 dIgeshire NS UHG H are A N HE R g gl S
3 §is THG T ¢ 96 K & 9o 38 safaa F 31 3N ey Ve W 38 afFa & awe dor
g1 X, Y & & qorer & a7l Sor 1 L, O & o W 3R 7 & idler §is 9w @, e de fi
NI RIS PN NSRRI KIRATTIdTEIY , J HT 3R
He frd gU doT glEmeh WS Thg@ & @A ¢ &1 X AR W & dig & o @€ §, IR W voge
§is THE FA qA F S AN AW T W o §| I ATHATH §15 TG A § I§ G
5 g F d F IR He B §U ST 1 W AN AGESHEE §i5 THE P qrel AT
T g & OF T F ¥ § 9 1 T die Y F S aoe F ¥ | 9w & R



TH B W 3T &1 J A =Y 30X agesHire o que 787 §1 9Fd -1 Fr @er @ K & @
el § S Ui & R sft o W =1g der &1

=fef@a & @ #lT Z & gHe Yot 87
A) | B) L
C) J D) H

Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. V,
W, X, Y and Z are sitting in row-1 facing south. H, |, J, Kand L are sitting in row-2 facing north.
Each likes different brand of laptops—HP, Lenovo, Dell, Asus, Acer, iBall, Apple, Wildcraft,
Micromax and Harissons.

K sits third to the right of J and likes Asus. Only two people sit between | and the vacant seat. |
does not like Acer or Dell. Z is not an immediate neighbour of X. W likes Harissons. The one
who likes Dell faces the one who likes Wildcraft. The one who likes Dell sits opposite to the one
who sits on the third right of the person who sits opposite to K. X is not an immediate neighbour
of Y. L, who likes neither Acer nor iBall, does not face the vacant seat. Neither K nor J sits at
any of the extreme ends of the row. Y faces J. Vacant seats are not opposite to each other. Two
seats are there between X and W, and W sits on the third right of the one who likes Apple. The
one who likes Micromax faces the one who likes Asus. The persons who like HP and Wildcraft
are adjacent to each other. Vacant seat of row — 1 is not an immediate neighbour of Y. | sits at
one of the extreme ends of the row. J does not like HP and Wildcraft. Vacant seat of row-1 does
not face K who does not sit at any of the extreme ends of the row.

Who among the following sits opposite to Z?

A) | B) L
C) J D) H
Answer Key : B Your Response : Not Answered

Question No. 76

3ifsenyr Hafed gl




A) Goel & B) qu= ¥
C) ¥ac & D) ¢@s &

'‘Auditory’ sense refers to-

A) Hearing B) Smell
C) Taste D) Vision
Answer Key : A Your Response : A (Correct)

Question No. 77

HRAT TS FiAT SaRT HIAUT FHT A ART & 1936 #, 3HH H ST sfeaes &
g&difad fRar = aml

A) HaR B) \sFas

C) TR D) @@l

The demand for the Constituent Assembly was put forward by the Indian National Congress in
1936 at its session held at-

A) Faizpur B) Bombay
C) Kanpur D) Lahore
Answer Key : A Your Response : Not Answered

Question No. 78

Sofr @ qot |

23, 24, 52, 183, (.
A) 988 B) 482

C) 764 D) 258

Complete the series.



23,24, 52, 183, (...)

A) 988 B) 482
C) 764 D) 258
Answer Key : A Your Response : A (Correct)

Question No. 79

Ife frel avg & T 7o 3N 5T 7o 7 39 15: 8 8, a wfaera amr wra fAifwl

A) 62.50% B) 37.50%

C) 52.50% D) 87.50%

If the ratio of selling price to the cost price of an article is 15 : 8, then what is the profit

percentage?
A) 62.5% B) 37.5%
C) 52.5% D) 87.5%
Answer Key : D Your Response : D (Correct)

Question No. 80

oTiT ST § WF AT = =1er x [0 [ FaT § T Jmey & =7eF y
Y / s=r 21 A= TF = AT Fod g0 oarr & G uw
Fterd 20 79 F2aT1 g 97 T g1er &t o | T2t T 99 59
TETT 2, T ATAT o ST SHeRT AT FTeT ATT o)

A) B)
< + yﬂ + - _yi +
Frfr/eaT /=T
Xy 2xy
C) D)
2 2 2 2
X+ . - .
s * Y ey




Speed 1n still water is x km/h and that of the stream is y km/h. A man
rows a certain distance up and down the stream. What is the average
speed for the journey?

A) B)
< + v < -
Y km/h Y km/h
Xy 2xy
0 D)
X +y x%-
Y km/h y km/h
X X
Answer Key : D Your Response : D (Correct)

Question No. 81

gfe sin 2A = 2 cos? A &, df 'A' & HIF AT B
(A # 0 3R A =gT=ivr 3)

A) 45° B) 60°

C) 90° D) 30°

If sin 2A = 2 cos? A, then find the value of 'A’' (A # 0 and A is acute).

A) 45° B) 60°
C) 90° D) 30°
Answer Key : A Your Response : A (Correct)

Question No. 82
ea @1 ag &7, SEr T Faifds g §, 1 Fganar g7
A) Frare s (Vitreous body) B) 314 &7

C) ®RIE8 D) drfdepr(Fovea)




The area of the retina where the vision is highest is-

A) Vitreous body B) Blind spot
C) Choroid D) Fovea
Answer Key : D Your Response : Not Answered

Question No. 83

H Shiaet & d1g e & <Iei AT for Irr o
A) YT & Jg B) @rar & Jg

C) FIgel & Ig D) HTERT & g

Babur assumed the title of Ghazi after the success of-

A) Battle of Panipat B) Battle of Khanwa
C) Battle of Kabul D) Battle of Ghaghra
Answer Key : B Your Response : B (Correct)

Question No. 84
dieeHiey F 39T Refaf@a # & fFee A9 &t & foe famar rar 872
A) faegd smasr B) wfarer
C) faegd err D) faerareaR

To measure which of the following is a Voltmeter used?

A) Electric charge B) Resistance
C) Electric current D) Potential difference
Answer Key : D Your Response : D (Correct)

Question No. 85
fAmfaf@a & & 5w af 7 fre fr RIS Qat #F aredr Fr I FHir 715 872
A) 2019 B) 2030

C) 2020 D) 2022



In which of the following years is cricket set for a return at the Asian Games?

A) 2019 B) 2030
C) 2020 D) 2022
Answer Key : D Your Response : Not Answered

Question No. 86

HAs fHOT FART ggel IR R garT fRar s ar?
A) J.J. AiHTT B) 3ffc I&XwIs

C) e 3Teed D) MesEla

The cathode ray experiment was done for the first time by-

A) J.J. Thomson B) Ernest Rutherford
C) John Dalton D) Goldstein
Answer Key : A Your Response : Not Answered

Question No. 87

g8 Quite o hfare, St = F 1/55 fF ¥ 12 310 B

A) 10 B) 15

C) 30 D) 24

Find the integer which is 12 more than its one-fifth part.

A) 10 B) 15
C) 30 D) 24
Answer Key : B Your Response : B (Correct)

Question No. 88

TF SONAR ¥ #lgg &I 3uaor AT §, fFer 39T gt & A HAlspg awqg3i @ gff, farr
IR JfY &1 gar T F A fFAr Sar €2

A) TR 3R ATSHIBIT B) TFIIHRIAY 3R HATSHIBIT
C) graHeY 3R fSeaex D) TFIelhRR 3R T




What are the main devices present in a SONAR which is used to find the distance, direction
and speed of underwater objects?

A) Speaker and microphone B) Amplifier and microphone
C) Transmitter and detector D) Amplifier and speaker
Answer Key : C Your Response : C (Correct)

Question No. 89

gAY 3 geErRiat G R @ 87
A) 8 B) 6
C) 4 D) 2

The number of electrons in the 2nd period is-

A) 8 B) 6
C) 4 D) 2
Answer Key : A Your Response : D (Wrong)

Question No. 90

15 aY a1g U] $T 3, 38T 5 ¥ g9 FL G N 5 I & S| TS H ToAT I e
87

A) 10 B) 14

C) 8 D) 15

The age of Raju after 15 years will be 5 times his age 5 years back. How old is Raju now?

A) 10 B) 14
C) 8 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 91

ar 93T T & FI HAA: 20 T 3R 60 HC H W Tho &1 Th T IIST T A a5 B
afg sl aEEt FY T @Y G S §, A &R 40 WEl 7 s S ¥l SR gU & A @ell e




H A 939 Fr RhdeT 98T F9em?

A) 30 ©E B) 28 ®¢

C) 20 g¢ D) 24 ¢

Two pipes can fill a tank in 20 hours and 60 hours respectively. A third pipe is an outlet pipe. If

all three are opened together, the tank gets filled up in 40 hours. What time will the outlet pipe
take to empty the full tank?

A) 30 hours B) 28 hours
C) 20 hours D) 24 hours
Answer Key : D Your Response : D (Correct)

Question No. 92

U ool H §IM T 80% ¥l I FF Aed H 20% i I B &, ol BT qew wA W
T T F T qRacT giar §?

A) STH F 30% dI HAT g & B) @M1, %I Hed & 60% F S& FIT Bl
C) oH & 18% & &Y gy Bl D) @1 Halel 1T gl

Profit in a transaction is 80%. If the cost increases by 20%, then what is the change in profit
percentage, if the selling price is the same?

A) Profit decreases by 30% B) Profitis 60% of the cost price
C) Profit decreases by 18% D) Profit remains the same
Answer Key : A Your Response : Not Answered

Question No. 93

Y FEEit F1 T.8.9(LCM) 3R FH.IG(HCF), Faer: 441 3R 7 &1 I Teamsit & 3w 14 &,
ar 3% AT AT PfAT)

A) 62, 48 B) 63, 49

C) 64, 50 D) 84, 70

The LCM and HCF of two numbers are 441 and 7. If the numbers differ by 14, find their values.

A) 62,48 B) 63,49



C) 64,50 D) 84,70

Answer Key : B Your Response : B (Correct)

Question No. 94

USIISH T &2
A) 3 Sfear Sifas derdt & @Xer 3UEd & B) I U A IS gelerefier g 2
gRafda a<a &

C) @ Tawivsiiid fARAT & gHel @ WT aXd D) T Sifdeh &Rl iR ®iEhe Tl § aal
gl gl &

What are Enzymes?

A) They convert complex organic substances B) They are highly soluble in water

into simpler molecules

C) They resist the attack of viral diseases D) They are made up of organic bases and
phosphate ions

Answer Key : A Your Response : A (Correct)

Question No. 95

3Meie IR AT T a8 FAw: 9 1 4 & A A T ST 3Helg FT ad 15% T¢ I &, aF T
©.5175 8 SIIr &1 f@#er & aaa frder 82

A) %.5000 B) %.4000

C) .4500 D) %.2000

The salaries of Anand and Nirmal are in the ratio of 9 : 4. When Anand's salary is increased by
15%, it becomes Rs.5175. What is the salary of Nirmal?

A) Rs.5000 B) Rs.4000
C) Rs.4500 D) Rs.2000
Answer Key : D Your Response : D (Correct)

Question No. 96

fAmfaf@d # & i & A9 Mo dq 76 82




A) FeeT A3tFarEs B) el SIE3iiFdISS
C) 3l D) AScH 3FISs

Which of the following gases is NOT a Greenhouse gas?

A) Carbon monoxide B) Carbon dioxide
C) Ozone D) Nitrous oxide
Answer Key : A Your Response : C (1

Question No. 97

S T ETBIFAING Heel I dlg & WG (iron fillings) arel &3f 3 STl ST &, @ 4T §lell o7

A) gB3e A 3R IRRA FARBS 3c0ed B) Falld 3 3R IR gESIFASS  3cdedd
gl & g &l

C) grEarele I 3R dreir 3cdeeT giaT gl D) HRe& R8s 3R Tl 3cdeat gl gl

What happens when dilute hydrochloric acid is added to iron fillings?

A) Hydrogen gas and iron chloride are B) Chlorine gas and iron hydroxide are

produced produced
C) Hydrogen gas and water are produced D) Ferric chloride and water are produced
Answer Key : A Your Response : A (Correct)

Question No. 98

AT Ser A e @ 9¢ 3T S RU v v Fr 3R &I

A, B, C, D 3K E &I &, 3R I P13 FRI FT 39T WA §, 99 ARSI, fvassey,
glear, 37 v 31T 318N 37 FRT & & e, ¥hg, Fa, o AR &Y 8, afeer s 381 & 33
HH I

i) A & g ST §, AfheT T8 & 77T B

i) B & 91T arer W1 #r I W §

iii) C & I el FR g, Afher AT ¢



iv) E & 91 T FHell F] ¢, A o ar diewseey § AR o & dear 8
v) o o &8 FX 8, I eAssey & 39T W B

C & U fAF=faf@d # & &l & Fr g7
A) ATESS B) siuAssey
C) &I AR D) drear

Read the following information carefully and answer the question given below.

A, B, C, D and E are friends, and they use different cars—Mercedes, BMW, Volvo, Range
Rover and Audi. Colours of these cars are—blue, white, black, red and green, but not
necessarily in the same order.

i) A has an Audi, but it is not green.

ii) B has a red colour Range Rover.

iii) C has a blue car, but not Mercedes.

iv) E has a black car, which is neither BMW nor Volvo.

v) Those who have green car use BMW.

Which of the following cars does C have?

A) Mercedes B) BMW
C) Range Rover D) Volvo
Answer Key : D Your Response : Not Answered

Question No. 99

AT F Al f1 Hew Hgeadr 1 Regd d@Far # aRafda war § s &
AT ¥ AfSTss 7 I §

A) #Haor dfEer B) ©rorT dfAhr

C) uqd urel dfFehr (Tsheh diehn) D) eI dfaehr

Human ear converts audible frequencies of sound into electric signals which travel to the brain
through-



A) Auditory nerve B) Olfactory nerve
C) Trochlear nerve D) Optic nerve

Answer Key : A Your Response : A (Correct)

Question No. 100
SH ¥ Pl AT AAGT AR W 32 &3 7 91T SACr g2
A) 33T B) ToRI%
C) g #1ref D) aRars st

Which of these animal is generally found in cold regions?
A) Rhinoceros B) Giraffe
C) Polar Bear D) Hippopotamus

Answer Key : C Your Response : C (Correct)
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